Le corrigé


MATH 1


1)   14 + 8 = 22

2)   20 – 9 = 11

3)     2 x 4 = 8

4) 76 – 36 = 40



5)    15 : 3 = 5

6) 58 + 94 = 152

7)     5 x 9 = 45

8) 3 + 8 + 4 + 7 + 6 + 1 = 29



9)   8 3 0  –  5 4 9 = 281

10)            5 7  x  4 = 228

11)             7 2  :  6 = 12

12)      6 5 5  +  9 6 = 751



13)              950 – 25 x 10 = 700

14)    (100 : 4 – 5 x 2) x 11 = 165
15)                2 5 7  x  7 = 1 799

16)     8 2 2 0  -  2 0 3 8 = 6 182

17)              4 0 8  :  2 4 = 17

18)   7 1 4 8  + 2 3 8 7 1 = 31 019



19)                                 9 6 0 0  x  4 2 0 = 4 032 000

20)                                     3 2 6 4  :  1 6 = 204

21)                            1 7 6 6 0  -  8 2 3 4 = 9 426

22)   2 0 3 4 5  +  8 7  +  4 2 9 6  +  5 6 2 = 25 290



23)         3, 6 5  +  4 2 7, 3 = 430,95

24)       5 2 0 0  -  7 5, 3 5 = 5 124,65

25)               4, 1 5  x  0, 8 = 3,32

26)              4 1, 5  :  0, 0 8 = 518,75



27)     3, 7 2 5  +  7 9  +  2 8 9, 0 8 = 371,805
 
28)                                   1, 7 5 m  = 175 cm

29)                                3 min 45 s = 225 s

30) [bookmark: _GoBack]                           25 % de 200 = 50
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